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SOLVING POLYNOMIAL INEQUALITIES

1. Solve the inequality

(z — 1)(z+4)(z+2) <O.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pA2sAkj8KFeS

A(—oo, —4)U(—21)

Answer:

° Watch Video Solution

2. Solve the inequality

Plz) =2 — 42>+ +4>0.

| 8 l


https://dl.doubtnut.com/l/_pA2sAkj8KFeS
https://dl.doubtnut.com/l/_xQXaYJmWMkda

3. Solve the inequality

Q(z) = z° — 4z* + 4z > 0.

° Watch Video Solution

1. Which of the following is equivalent to

322 — 2 < 2?


https://dl.doubtnut.com/l/_xQXaYJmWMkda
https://dl.doubtnut.com/l/_3AiEey9HD0fV
https://dl.doubtnut.com/l/_7JdWUwyXegH8

A.—i <xr<l1
2
B.—1<x< g
3
C.—E <zxr<l
3
D.—1 <z < E
2
Answer: C

o Watch Video Solution

2.5olve z° — 3z3 + 222 — 3 > 0.

A ( — oo, —0.87)


https://dl.doubtnut.com/l/_7JdWUwyXegH8
https://dl.doubtnut.com/l/_RoZwqjTPUw2x

B.( — 1.90, — 0.87)
C.( —1.90, — 0.87) U (1.58, co)

D. ( — 0.87, 1.58)

Answer: C

o View Text Solution

3. The number of integers that satisfy the

inequality z° 4 48 < 16z is

A.O


https://dl.doubtnut.com/l/_RoZwqjTPUw2x
https://dl.doubtnut.com/l/_gpdzwweYyew9

B.4

C.7

D. an infinite number

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gpdzwweYyew9

